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oV a
t | | A ",
" | % >
I - ? ':E}r""" I i~ O
| % = g
!. .............. *’ I- ----------- -: ~ [..___j,', £ g ﬂ:‘jﬁ
B (B) | VY (A) '>-1—< g =
(ﬁ) | : | = | e {B) | 'H:{t’ ‘
i_ ................. [—“““""\:. j | . r—uv*
© ‘! E’( ) | = f‘t é
D] (E) Wﬂﬂ"ﬂ-ﬂ -#1 (E) Quﬁﬂtlﬂn not att mpy
CEF1] &3 7 Ped
[C
O
td-.
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HDP&RS,'[UUW&\/L

L f kWY Jt %@B? 0 f

1 forar S, at | 57 If the seco . AR
ﬂﬁmﬁﬁﬁq il ;d half of the English alphabets is written ip ghe
F TR g | rder, then what will be the 7" |
) a7al c EfAE e the 7 letter to the |
el A 7Al ,- Saien the 5th letter fi : e left of
A A gl rom the right end? o
afa il Y (A 2
51 T a5 (B) O meny (A) X g .
mﬂ‘fﬁ; (D) ©) L - DJ g 0O
g8d (M) * (E) Question nlf (D) 2%
© L - S N estion not attempted -
[ I W 53 3 P
(E) Zﬂﬁ"i [;,j@maﬂ o T S T 3 Eiqi'j,,, SRl iﬂ[:ﬁt the correct sequence ug;mbem btg fE{ﬁr‘ 4 meaningful
T #~ 4 . ¥ 3 Mg w0 N
58 ﬂ{TT y E M D & S OTY E-M D r;i ﬂﬁbEzS;r‘f
S 4567 3.2-1/4, 6 1.2 3 4 5°9¢ 7 7Y  62%5V°5 4
{A} 3, 2, 7: ﬁl', 51 4"3 (D} 6= 2,?, 5;“-13]3,4 (C) 6: 2: ':.l', l: 5,413 ( ) gi g: g: 5,-“ :“‘, ;12
(C) gg;;%,&g’ ’ - (E) Question not éttemptea T
. < ST 36 A s A RS, R g | 59 March 1930, which is well-known in the freedom movement
59 W 1930, ?i;ﬂ%a,‘lsluzsuciatud with:- o
¥ - : - uit India Movement o~
) m;.ar;:ranﬂﬁq g o RN Sk (B) Parition of Benga O
' . i March o
€ T : g isbpem | T e
SRR (1 o (D) Non-Cooperation Movement
() FF - & o4 :.?Ei"[‘? (E) Question not attempted C:: !
60 m?m - E[_EI : (B) 1890 (VY 60 '(FE;: E'-lug gléa Kisaﬁ_Muvement began in Rajfggfﬁ_an in:-
3 L B) 1890 [°~
(C) 1897 - (D) 1892 oV IRAV = E[?gj 1892 o
(E) wﬁﬁ gy - '\Q (E} QU’ESﬁDn nut F:!Ftﬂmptﬁd . ;r
61  TE USRI IR AUl <h TEATTSh ST T SR N&Z‘; :::i,fﬂ‘““d& of the prominent Rajasthani journal
(A) IR EAR (B) %ﬁ( be ‘_i I_I hid (A)7Kavi (ihandrg_.singh (B) . Kishore Kalpna Kant
(C) |ed ST St (D) TR I _ Satya PrakashJoshi (D) Dr. Manohar Sharma
(E) FgaRa s O _ (E) Question not atiempted o
62 ‘oo G WFT%E Srafafaa T ¥ B @“’E =7 gt 62 ;liﬂg::;ft_t;g;siiﬁ;h %ditiunal craft of which_g/f: the following
' 4 . IE-'-"‘.
(ET) % g B) it Q::. : (A) Jaisalmer ._ (B)) Kota ~__-
SgEHT ) \ Jaipur 2y (D) Udaipur-.
(C) AW (D) J@|W (Y (E) Question not‘attempted (Y
(E) aﬂ,ﬁhw = ora 63 Which of the following is not included in‘the Tribes India
i s . ool GI Products list of Rajasthan? Y
W 5 3 A T S greed 3T SheS S e (A) Decorative Blue Pottery ~ v
RULEE LR, \_\BY" Gobindo Bhog rice
(A) e et Tt & = (B) M T SE (C) Molela clay items LS
C) Wieie "a@" T -@'ﬂi"# (D) Bagru hand-block print <~ s
((E)) Wfﬁ?‘?;ﬁ[ & iy e s (E) Question ng;:ﬁ_ttﬂmpted O
B S ¥, . 64 Barmer prints are known for their bold geometric patterns
64 mﬁ%ﬁz A e s At 3 fae s s # R e called: pocde =
ST 2 Sy o A) Bagru print= ¢ (B) Sanganériprint
A) I 7 (B) T iz~ ECE Da%:.lullcsisi_'ﬁrint Ajrakh print
(C) ﬁﬁ'ﬁfﬁzf (D) =F Rizy (E) Question not attempte Y
(E) Jqoiaws . . iy 65 Where in Rajasthaniis the ‘Kapil Muni’ fairheld?
65 ov” (A) Sanganer in Jaipur T
TSR o il e Fel AT Sl &) (B) Mandore in Jodhpur N
((h) S H Hi (B) eyt Hew Kolayat in Bikaner
C) = d e TR (D) Kalibangan in Hanumangarh P
(E) ERELGE: & 2 [Ei (E) Question not attempted ~’
66 *ﬁgmm o & v : e O,,% 66 ‘Terah Taali Dance’ is a famous folk dance %ﬁﬂciutﬂd with
s afig A ®l . =) 5 —?
({t} TaRET St (B) =t s=nfa” (A) Garasiya Tribe (B) Bheel Tgibe' :
) ll‘ﬁ( B¢ (D) Wﬁiﬁh - (C) Gurjars g Kamad Caste !
(E) ARE w - ) (E) Question not attempt i

. (Y . o086

Who among the following may be called the first P
writgr of Rajasthani literature? M

Lakshmi Kumari Chundawat D _
(B) Yadvendra Sharma |
w@ (C) Rameshwar Dayal
¥4 (D) Shiv Chandra Bhartiya |

7 (E) Question not attempted

8 [ Contd
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e n
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e ]

70

71

72

73

74

E%Elg
=I5

g (A) sit & gae™
B © Argarmia

Te afaa B X 2 (S 2025 %

(B) =irsh, s o=
(D) =it =i, s
Q

‘__'il_Fr"
W&ﬂﬂ.lgd& ED
(B) WERSTEET # Rig
(D) HERIE wEn i

(E) e
USTEuT 3 fore st s e g
(A) vt e e
(©) wamEs o= s

(B) e

o
€ )
TS e AT ST 3 vy < Pragfen Ptk gray 0 sl 29
o
E = D
®) s N g
Rl B 01 SE G B R S ——
i) HER 9T U=
T AT ST R T HHA B2 - 3
(&) gerslt (|~ (B) TSA9I,
(E) rgmiwws” S

3 oV

TS Tod AR A A S s

(A) THIAAHF AN TG (B) U A8 31 IR gae
(C) T 3Touei IR B8 98T (D)  Ueh I7e0e 3T o ey

= June
68 Who was the Chief Secretary of Rajasthan (as on

2025)7

Bl (A) Shri K/Radhakrishnan (B) r
G Shri Sudhansh Pant (D) ShrEC}’. Narayan
(E) Qucst_‘mn not attempted S

- MR F

69 The High Court of Rajasthan at Jodhplr was maqgﬁf 1::;
which of 'the following Rajpramukh _of Raja

29.08.1949 7 |

Shri'B. G. Rao

(A) Maharaja Bhupal Singh Y
‘__/(B’j‘ Maharaja Sawai Man Singh s
(C) WMaharawal Chandra Singh ;

(D) Maharawal Laxman Singh )

(E) Question not attempted

: sesi s
70 The Chairman of the State Public Service Commission 1

appointed by: -
(A) Chief Minister (B) President
(C) Parliament Governor
(E) Question not attempted Mir,

71  Who can rémove the State Chief Infofiifation Commissioner

on the ground of misbehaviour or incapacity proved by the

Supreme Court? P

(A) Chief Minister BT Govemor
d,g The President (D) Prime Minister

(E) Question not attempted D)

72 R?jasthan State Human Rights Commission is comprised
of:

ne Chairman‘and two members.—
(B) One Chdirman and four memberts’

&=
. -t
S e & = f Prafe ReEEn e
(A) T L0 (B) e
(©) "= ) (D) TEF " o
(E) et i

TSR e M fg 2R 3 akm

(A) Sfrgrar & (B) WrwIm
(© Femaa £ (D) shwerhost
(E) gaitaws

Read the following passage carefully
questions that follow: (Q. No. 75 to 79)'":'5
= PASSAGE

.

The road to su@ss 1s not straight; marq,‘f;a curve called
fﬂilll-l'ﬁ, a loop called confusion, speed buinfs called friends,
caution lights called family and a reller coaster ride called
jnbsz. But, if you have a spare calledﬂrﬁgtcrminaﬁnn, an
engine called perseverance, insurance called faith and a
driver called God, you will make it to a place called success!
In spite of all“our planning and prﬂparatfnn, unexpected
challenges are certain to arise. The bumps in the road are
unavoidable, but you’ll never get to ynu;jIE‘stinatinn if you
aren’t willing to drive over them. The différence between a

ng*fnu‘rﬂ prepared
y&g}ra ready, those

disastE:_r and tnurnph lies in whether or
and willing to-weather the storm. If
bumps will become stepping-stones.

s

The key thing to realize is that working ha rr.;r is the same as
working smarter. How do you work smarter? You just need
to have the right skills. People want hnprgﬁ'eﬁ circumstances
and better life Without an improved self They want victory
without paying the price or making efforts. It really cannot
happen without the other. Any improvements that have not
been generated by improving yourself are superficial and

CEF1] g3

Aand answer _the

(C) One €hairman and six members>
(D) One Chairman and five members"
(E)|, Question not attempted ;} ¥ o
T{"[é(l%;l).\dge of the High Court is appointed by:-
The President (B) Home Minister
(C) ChiefMinister me

: (D) Prime :
(B) Question'not attempted ) O fhﬁmmﬂr

74 In Rajasthan‘Languriya® s o :
Goddess? Sliftya” songs are related to which God/

wu??" Jeen Mata
(C) KailaDevi (B) Khatushyam jj

(E) Q““‘?ﬁ-‘ﬁ not aﬂﬁmptedm) Shtl Mahaveer ji

-
e

Read the rilf@ﬁpwing pass
questions that follow:
oy PASSAGE

The road to'success is not trai

g Rt E‘ ht; .J"'--"" L

fﬂllﬂ}'ﬂ. a loop called confusigp Epmg} o 1S 2 curye call
caution lights:called family ap, DTS ¢ iy

. " and a roller., 2
jobs. But, if:you have g JW‘L"
engine called perseveranc Spare Calleq, detﬂmin E'f_“ﬂﬂ&d
€itto
Preparas:
unavoidable; but L,
bumps will bec the stq o M
PS Will' become gt 3

. €, InSurapes
drl\'ﬁl; nalled.ﬁgg, You will m &kul.u—‘i.’}% ::allﬁd
1l our plannin Place
challenges ‘are certajn to ax%s:n - e b
. OUll never ger s DUDS iy o CXDecte
T%‘r:n't willing tfrfwn%mﬁ Yﬂufps n the mi?lﬁd
—— € e CStinage
ISHE[EF ﬁnﬁl._“l-tmlph. i es in m, Thﬁﬁdiﬁ tln-a.hn . a'tﬁ
and willin Whether Ot n :
. : 1
_kThE k:E? thmg-tu mali:é?mg-atunes. ﬁ%gu re
WOor A

r.
to hﬂ\rﬂ thﬂ ﬁght sk- Q
ls, p
BB and : v vopl
"-:;‘_-f-.-;i better life Withoyt an ;

I without pay; L0 iy, PG Y{]u.. M
PAYINg the price Or m;::eﬂ Self, ;id Qil‘(:ujust
N

g off y
0 W
Ty, lt rﬁﬁm

t '.-
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)
vant OU! of life without
! L :
: an accident. Success 18

ers- . . 2.clioice. Hence
ra tude 1S 37

d not chancCy~
holistiC and P“?‘twﬂ attitude to

5 ucccess is not rc’gi’f(‘iftcd to somc
Lemises. 1t-assumes the

¢ act executed with perfection;
ents 40 not define life. We don’t
for the pl‘ﬂdﬂﬂtﬁ ﬂlﬁ}',.éﬁinrsg but the

irit of a:hizwmﬂﬂt t_hg}r}mprﬂscnt, The dbundance of a

ive attitude inderline the grandeur of a_ly‘ify rewarding
pos! b

"f:ﬁ’can be n'llt::;;iéuﬁd from two standpoints=the external
as:d the internal. Exte:rnally, it is the mEaSlilrcﬁpf a job well
and recognition. -Intern?lly, it is j{'ﬁ feelu}g of
achievement and wholeness derived from the completidn of

a task, or the fulfilment of desire.

hrase ‘willing to weather the storm’
ost-appropriate nptiu:ljfrﬁm below)

In the passage, the P
means:- (Choose the m
(A) Beingable o step out in stormy weat?ﬁeﬁ

(B) Willingto face or deal with a very di ¢ult situation.
(C) Willingto go fora roller coaster ride.

(D) Readiness to

a stormy weather.

(E) Question not iﬁempted

75

-

76 Choose the most appropriate
sentence. Gz

Bumps become stepping stones when
(A) oneis willing f0 drive over them.
(B) oneisable to dodge them.

(C) one finds an alternative route.
(D) one approaches the authorities to levELt_gl'e':'m.h

(E) Question nntfat_tcmpted o

77 Choose the most/appropriate option t0 cumﬁﬁte the given
sentence. P 124
Difference between disaster and triumph lies,in"
(A) sulking a little but moving forward. < 3
(B) facing the disaster collectively. |
(C) taking some more time to analyze the risk in tackling
the disaster. ! * 8
(D) willingness to endure and overcome the-Situation.
(E) Question not attempted

R
0o

—

78 Which of the fnll'p{ﬁng attributes does nnt%ne success?
(A) Those aspiring for success e
others. W ¢ 124
(B) TItis the outcome of our attitude. oV’
(C) Success is a'matter of chance. “J

D : s
(D) Success means having a holistic and positive attitude

P towards life.
%5 (E) Question not attempted

rfjake adequate arrangem?ﬁ to deal with.

do not violate the rights of

happen without the other. Any imprﬂ‘*"ﬂmemg that have not
e been g‘encratcd by improving ynumﬂlf are f}PErﬁcial and
: short-lived. If you want to have a better future, you have to
EF change yourself. Stop worrying abopt the various challenges
that will come your way. Just believe in }’E‘_,ﬁf's‘ﬂf and use
them as stepping=stones. * o

‘Success’ is getting whatever you want out, of life without

_ violating the rights of others. It is not an acﬂ_idﬁ!'l’-'- Success is

the result of our attitude and our attitude i a‘choice. Hence

success is a matter of choiceand not chance.

Today success represents a holistic and pﬁsifj‘h’e attitude t0
life. Attitude is everything.

Success is not restricted to some
kind of brick and mortar premises. It assumes the

individuality of @&’ complete act executed Wi perfection;
material achievements do not define life. We don’t
remember sports sta they € but the

<nirit of achievement they represent The-abundance of a
positive attitude underline the grandeur of Efﬁ':ufly rewarding
rich life. e N

Success can be measured from two standpainits- the external
and the internal.: Externally, :t is the measure-of 2 job well
done, and recognition. Internally, it is. the feeling of
achievement and wholeness derived from the completion of

a task, or the fulfilment of desire.

to weﬂh’&r the storm’
means:- (Chnus;jﬁ: most appropriate option,from below)
(ﬁ) “Being able -;Eq:éitcp out in stormy weather<
Willing to face or deal with a very difficult situation.
(C) Willingto go for a rollcr coaster ride.”
(D) Readiness to J{ﬁake: adequate arrangements 10 deal with
a stormy weather. 4
(E) Question nugattcmptcd

75 In the passage, fhe; phrase ‘willing

gentence.

Bumps become stepping stones when 4
“ne is willing to drive over them. B

(B) oneis able to dodge them. O

(C) one finds an alternative route. W
(D) one apprua%:ﬁé__'s the authorities t0 levégéhem.

(E) Question ni;:j{f_’attcmpted s

77 Choose the mnsf: ?aijlpmpriate option to cnﬁfﬁlete the

sentence. S

Difference between disaster and triumph liésin __—

(A) sulkinga little but moving forward. )

(B) facing the disaster collectively.

(C) taking some more time t0 analyze the Tisk
the disaster.”

\,&’(,B)d willingness to endure and

(E) Question not attempted

g'wﬂﬂ

n taﬂk“ﬂg

overcome tl}ﬁsituatinﬂ-

78 Which of the following attributes does nutﬁd}eﬁne suGﬂESS?
(A) Those aspiring for success do not vicilﬁc-the rights ©
others. .. o
(B) It is the outcome of our attitude.
Success is a'matter of chance. N
(D) Success means having a holistic and positive

% towards life.
@Y% (E) Question not attempted

10

attitud®
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WY LIl%ein =

describes th-_:-_.wurd ‘endhrse‘ that has _been usea 1n i<y

%&' @ passage? . ° _
Erfss (A) Touse in personal life.

k4

iately
: most appropriate
. following sentences
79 Which of the

! sed in the
rd ‘endorse’ that has I}gen u

describes the -7‘7"?

O

by ; e eseht.
: passage” s - Q To meéntion the team they represes
: al lifc. 4 (B) .
EIFY33 (A) To usc ll}_Pﬂr:lﬂr:ﬂam i mprﬂsf:ﬂuf (C) To encourage utl:lﬂt‘ spn'rts achti:}f,:a =
(B) Tomelte, e orts achieversy’ To support officially with one's nNarie.
(), 70 Enmm:gcﬁ? :il;z; ?.a.rith one’s name. \‘% Question not attempted Y :
D) To support 01! ~y d 4 from the/Tist below.
EE; Question not attempted ﬁr\{ * g0 Choose the correct plural WDEB) et
. Qist below. childrens s
80 Choose the correct plural word from the (2) mothers-in-1aw SPY sheeps
A) childrens Sl Mlisniinlgi S estion not attempted
(A) childrens = o heeps | ® optiate word.
() Jmethens =0 ttempted g1 Fillinthe blank with the most api}f p;kind as a part of oWt
E uestion not attemp 5 ; R gifts ot at-
TR ‘with the most aFPTUF"iE&E?FMd' e wfl.l. n*UF' W ”—r;.
81 Fill in the blanl_-; :._mt s of any k{ﬁ:d,as a part of our organisation ) u(_B,r a,;%pn
We will not_-— i - (&) exRI) (D) amass”
- ‘ethics. Yy~ C) accedei
organisational S @) accept”_- EE:;'. Question not attempted vy d which 18
(A) except (D) amass™ R e . en below, choose/the wol
(C) accede ~° (V4 g2 From the ﬂntiﬂﬂs BEVE w0 the word-<careless
i ot attempted " milarin meaning ~/
(E) Question o hich is most simuar ¥ B) Arrogant
given below, choose.the WIS RIS (A) Indifferent {(D') Vigilant
82 From the options S50 rd “careless’. egligent
st similar in meaning to the wo ; Neg - o a1t attﬂmptﬁd :j'f day
mo ; (B) Arrogan (E) Question, _ Fren what ¥ as the
(A)7 Indifferert (D) Vigilank~ oth Eebriiary 2005 was a Tuesday: g
©) NEE‘*%E“F-' ted = th cehiuary 20032 —
tion not attemp Q on 8" February Sunday
(E)Z Questiong=y Framar e - - e
s FTHTAIR ﬂT}'{-ﬁ' S'q;{aﬂ:g?ﬁ?’ (A). ’[’hursflgfg; (D) Friday”
g3 IRETEI00] o (©) SR carempted (>
£ Sam = not 2 b,
53 T (B) X 4 (E) Questh_l}?ﬂu R e bclng;:,are three Etawm?“:l
(A) 3 (D) YY - Howing question SV g8 are requir
- S In the follow . and<IR. You :
(), wHEl - ny 84 fn“ wed by:two conclusions L “Be true even if they
miﬂf&f oA g ollo . e statements tO ake 8
(E)' S ﬁmaw 3 & aﬂl— 11 to take the three g1ve : munl‘y known facts. M
refier aper ST 2 A waa | 0 ¢ variance with com : clusion(s)
84 :ﬂ%ﬁ;’l{ﬂ({w ﬁq_‘llt{ _m,.ﬂq‘sl- '-:ﬁ[l:[ai HAMEAT %: : ﬁ geem to bea o wiich of the .given con &
E?Iqa:ﬂ l_'":" ; gl . - rdin s L tatements,
ﬁqﬂf{%l it N 20 i judgcmcﬂt | re:ga & the thrée. given S
. 3 wi(s om 3 -
qred: 1 aif q 'ﬁ;‘ﬁ = ﬁqmﬁﬁiﬁg v ar e Lc:glcaﬂfd i ::l:; m(i-n?nniy e ins ﬁmﬁ;}
A e & LG @ isregarding C¢
L3 ‘?HEH—.:UT o tse: ¢ ~
ST i AT Statements:' © b, Som€QareS. &
- 11 Pare Q. > o
HA: ‘ %%1 d. A . M
a. H‘ﬂ P, Q %I b @5 C. SQmESﬂrﬁ T. -::'ﬁx
55, Te e Conclusions:; e
Eﬁﬁ;ﬁ“ . ’ b I. sSome P arc T. oV
;, o & N " Some Qrare definitely T. D
L0 L e ‘ conclusion 1 follows
I 5 QAREEIA T & L5 (A) Only conclust
1. 3 Wﬁeﬁ&[ AT FTE (B) Only P;i:}nclusu‘.m 11 follows -
(2 Searer fored 11 FT 8 e Both I'and 1I follow -
EE; © e 11 20 H‘H'("Tﬂ FAE it (D) Neither I nor II follows QO
e @ N S o
(D) FRIMTAN IFE T 8l = (E) Questionnot attempted I
(E) IRE A, o ~

& ; ~
85 ’ﬂaﬁqm{mﬁiﬁﬁmﬁﬂiﬂﬁm@ﬂﬁ}

85 Arrange the ﬁﬂrds given below in a me

. ¢ aningfy
b, gferE ) a. Punishment b, Police gtul sequepce
5 ot e ' oV e. Judgement - A 5
:ﬁ%ﬁqmﬁﬁ LR b C Choose the correct sequence from tha'q.

(A) d: b1 €, C,a

O/ (C) bsd1{3,'ﬂ,ﬂ
E% (E) SIgaia@us

(B) d,b,c,¢62
{D] ci b: E‘i ﬂ, d

(A) d\ b-|. C, {:‘ a
T2 © bid,cea

B4 (E)  Question not attempted
11 - d H
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86 Arrange the
: words pj ;
- L 8 > Meinbe &'ven below in the ascending seq
6 " wd@ C.  Family ') 3 Country ce
oS gf@n 3. Choose th I - Lucahty o
ﬁ ;aﬁaq:giﬁ faehe I;. > ' ( A) b, ﬂ,:l H‘;ust: _amePﬂatE option O
(A) b ;;,a,j ©) ac, bd & !._.-Egi ¢,d,b,a "
"::- ’ H . S | :/h
fg i % (E) Question ngt Httﬂmpted a,c,d, h“
- £ eI Hid d"” §|{ 87 Flnd th . -
87 ﬁﬂ-aﬁgﬂ air@ﬁfﬁ C missing numbf:r in ?eﬁfalluwmg FE&;E'
2 3
29 . LA
” (D) 34
(E) aﬂ?ﬁlﬂ‘ﬂﬂ' % (E) Question nnt attempted
iy
88 ﬁq%ﬁaﬂaﬁﬁrﬂﬁﬂmmzﬁﬁm Y 88 Find the missing number in the following ﬁg:rﬂ
A=y X oV’ i M -y [
| 96 1§ 130 : 1'32 \ W) 2 \ _;152 ; oV )}%
| | | ; | : : .\
W B i - L
{ { | l | /
| 4 ; S da6 3 l 4 lgf 6 i 1 :
I E 8 E "2_ “*==-".-'-'- -—- X.*'— ¢ F 3 e 9] zg
L il Lo *_Q B8 5% i I~ em >
: = K W -’
s %Jg :{ > - & s 3 @%
| 29 : 3S 1'Y 9 '_ : , 28 | 35 ] gas ] ;;‘"
| : | E *@ SN, (s | Y
(&4) 31 o3 (B) 28 jﬂt/{m T (B) 28 oV
(C) 27 D) 32 ©) 27 D)i32 ")
(E) Srai@wx

(E) Question not 'attamptad

89 ﬁqwﬁaﬁﬁﬁ%mm Sl AT HT

-
i
o g
-
. b
g0
L 5 i
- i - La
.-
§
T
]

(A) 9 S )
(A), 9 (B) 16 (C) 13 B (D) 1 ,ﬁ,&*;,.
©€) 13 (D) 1 (E) Question not attcmptcd e
(E) rqaiaws

90 One third of Rekha’s marks in Hindi exceeds one halfof her
marks in Science'by 20. If she got 100 marks in the tWO

\/i:l?ds tugcthﬂr, how many marks did shghé:t in Science?
Y- (B) 24

90 T RS g ) %ﬁﬁﬁmﬁﬁﬂiﬁm%m

820 wHfere 31 e 38 A ot e 100,319 oY, A3
P e s vy

o™ _ 5,.
(&) 20 = ® 24 = ~(©) 16 .t ® 1 .
©) 16 g (D) 18 ?;: (E) Question nnt ﬂttﬂmptﬂd O e
. y
Y 91 The value of x m " Y
| - - 2 3 . oV
J=+E5xE=lTx1F is-

> T3 oy \_i(_m/ N

(A) 3 1

D Ei (C) 0 (D) 5

= 100 [ Contd-
& an = A0S

.!:L_},/"ffr ng

(¥ scanned with OKEN Scanner



HETAT = o
= %%Q? ﬁ*WImm S 10 tm__-[-&.)(.%ﬂ-x_‘) @ l@ “f,f_
TR T R Rt g o S o iy 05 4 8 - 8x = S35
S ¥ R g sim”mﬁﬁwmw TNy p | 2/ During = S ko
Ea S = b
AT ST T, < 3y wmﬁﬁrﬁﬁx @sgm “hich he ronshop, a teacher ctaimed 1097 Sich be
| eht TR travelled o 11, 0 OY taxi and T 9 for cach km (lin
(A) 38 = &S 6o orl his own = 4% 575 for
(© (B) 40  60kms, theTiow e claimed? 575 ")
25 B¢ (D Q" (A) 3g many kms did he travel by 12*"° 9
(E) gaf@ys )39 e ©) 25 (B) 40 4~ 5'-’*‘
23 ﬁ?Eﬁ =% W . Yy E) Question not atte 351: e
H@ y . d .
qFl"q—‘;?:ﬁag ’:a;r A 39 Eﬁ_i:qﬁjﬁ ¥ u € HUIHEricﬂ.‘.‘JEIUE uj:t_f-.tﬂ "*rf;E ‘s fourteen {mes
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3 PR (= Z2) | cireumteene o
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®' st s (D) 176 518 | ©) 152 ‘:1:;5 ya units
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94 ‘Ui YRE HElET - ( ucstion not attempted
o elcad - 20257 ﬁw% 94 .10 P i 0
ﬁ%m'wngﬁ)ﬁ SONCLORCE :E};lat 1s the theme of “Grameen Bharat MahotsaVy ~ 2025
(A) wHiehios e ot sttt b_j"“ ' (A) Rt sppeopriste opfan from below)
(B) mior eTsfifaerr % o (B) 1 ultural Heritage and Economic. Growth
(©) i . e e sic S IBINED] | nnovation and Technology for Rural Livelihﬂﬂds :
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(D) Wﬁw%mmqﬁmﬁw | () Empowering rural women for a'bright future
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C it o 5 ' inistry o anchayati Raj 2
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® e B o e G i o fnicf iy f A
96 (STSTRR) TR Y TATGT i STl (A). Raja Amoraj Chouhan A 7%
H)I ST Sl 2N ja Amoraj Chouhan j
(A) TSI VTS e (B) TS st (7 e (B) Raja Vigrahraj LV Chouhan ©v"
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merier & HaW ¥ W Fead @iy s A vt g,
Jereht EeaAT T AT HY HAT T HH R AR I0® a1
g Rraredil 7 B STIHT ITRCTRQ (2 AT 102 | 104)
qa Sl o1 T & il § AR ST A faga A
Rt T 2 Tai 59 8 § 1 a $o famiy T8 o
T &, Sifeh SeaIoT § YT Serdr & fh 9a ai_d}ﬂ?'a?aﬂ?%‘ﬁ?
a5 T 1 ffaa F 6t ST ETEHT 81 TE TR 9T, 3W
TR S TETST ST i ST SIe TTia i o [T o
TEEt I TIET TIRT R ST S S L}, ST 56

102 TS ¥ AT A M ST qorTedsh €9 3 Teh 1 S ST g1
ard P dg@smgw ffwa ) o
(A) EvEa:IT T (B) U¥Ed: HEJ T
© FRasd @ (D) AR s A 3T ?

-

(E) ERATH 57
103 e it T T R & S St 6 G 8 W B
gerar 21 (P 3 & gl 39w fashed 94) O

(B) ﬁr@ﬂ"éﬁi&:‘lﬁ%

(A) UVEG: AT &
D) FREER wa ¥
B @

(E) aRa s d =«

P Y’

104 % T S SN TR ST FohaT 71T (ﬁrﬁr;ﬁﬁuaﬂaqg?ﬁ
[EETaB-0) i JEr
(A) @Ea:dde
(C) Ffiasad g
(E) aqaaﬁaml,.;:.; tj:,,_

105 @ 21Tt <Y ST ST Y T, Y@ ¥ e, TR T A Il
St 3 o v | A% =R YT A o e HeA e 27

: - ) _
(B) dvad: I ® ¥
(D) FIBEedH a2

(A) =T AE B 9@ o -
(D) s 5 ]
(E) Elﬂiliﬁlm:::_;.: ﬁﬂ'ﬂ""

106 Fr=faiEa Sl &1 SargEs 3T oV
L ASB FIME A BHRALL D
. ‘A#B Fad & A, Ba @l
M. ‘A@B FEd & A, BRI 5~
V. ‘A%B'm,ﬁ%‘g,ﬂﬂﬁﬁ%‘l

(A) PSM@N#Q

€) P“¥M@NS$SQ

(E) sruf@ws -
- “ﬁﬁ?ﬂﬁmﬁ_*hﬁml*aﬁ‘FIRFS'%{mﬁwm
W%,ﬁrwzgﬁizmmﬁ*mlpuwaﬁ%&wa&ﬁ?
(A) LEOXED. (B) LEXODE
s (C) LOEXDE (D) LEXOED
%3 (B) sufawa
CEFI] &3

| 106 Study the fnllmw.r‘i‘r_{glinfnrrnatiun carefully.

e

101 How many meaningful words can be formed using the first,
the second and the third letters of the wurd ER

EAE F U L’ using each letter only once? g
Er%y (A) Two . (B) Four O
Three e One e
| (E) Question not attempte o
. ~ .
Below is given a passage followed by several possible
from the facts stated in

inferences which can be drawn
the passage. You have to examine reach inference
separately in the context of the passage, decide upon its
degree of truth or falsity and choose your answer
accordingly from amongst the alternatives provided
thereafter. (Q. No. 102 to 104)

Wind is an inexhaustible source of energy and an
aerogenerator can convert it into electricity. Though not
much has so far been done in this field, the,survey shows
that there is a vast potential for developing- wind as an
alternative source of energy. On this basis, U-P.’s hilly areas
have been found ito be an ideal plamﬁfﬁ'r setting up
aerogenerators. In'U.P. hills alone, as many as 56 sites have
been identified. 7}, ~

I 102 Energy derived fmm harnessing wind is @.comparatively
"+ sew and emerging field. (Choose the most appropriate
option from below)
(A) Probably true

ey Definitely true
(E) ‘Question not:attempted

103 Windisa suurcéfﬁf: energy, which can repgga exhaustible
sources of energy: (Choose the most appropriate option
from below) (7 -

(A) Probably false:
(C) Probably trl.lg:w
(E) Question mg;_aittempted -5

104 The survey was.conducted by the Gnvgm;nent of U.P.

(Choose the most appropriate option from below)
(A) Probably true Probably false
(C) Definitely true (D) Definitely false

(E) Question not attempted SR, i

105 Pointing to a mﬁgf?Rekha said, “He is thé brother of the
daughter of tthfﬁjfc of my husband”. Iigxf is the man
related to Rekha?<- |
(A)_Cousin .-

(B) Probably false
(D) Definitely false
D

-

Deﬁnite!&tﬁm '
(D) Definitely-false
I o &

(B) Husband”
| Son i (D) Nephew-.

(E) Question nd]:’-ﬁfttempted Y
-, Va

I ‘AS B’ means ‘A is the mother of B'~)

[I. ‘A # B’ mcans ‘A is the fathcr of B,

I IIl. ‘A @ B’ means ‘A is the husbapd of B’ .~
IV. ‘A % B’ means ‘A is the daughter of B’.

| Which of the fulllpwmg expressions indicatéQ ‘P is the sister
of Q'? s, il

(A) PEM@N#Q

| P%»M@NSQ

(E)  Qucstion not attcmptcd

)
(B) Q%M@PSN
(D) QSM@N#P
il |
; N _ Y v
107 If ‘DELHI is coded as ‘FIRPS’ ina certain code languag®
than how will you code ‘JAIPUR’ in the same code

language? N
o) LEOXED (B) LEXODE
anna (C) LOEXDE (D) LEXOED

<55 (E) Question not attempted
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&g‘:lu i
» and ig;‘l tﬂ_I_lﬂ’ is a code
f@ﬂwing is the code Y

o travel 10
hich d ection?
est (B) kn‘lf'SUUﬂ'l-'EﬂSt
4{/.,5 lom, South-E8st
&
o
amp[éjjnﬁ [nput Device ofa
i
(A) Printer . (B) Speaker
1 C Monitor: Mouse
5 | (E) Questionnot attempted o’
111 Which of the following is not an example of cloud St?l:ﬂgﬁ‘?
o ) ;éﬁ) B B) One Dnve
111 A _i‘rﬂa?lﬂmaaﬁg | (C grn?:l;l:];nv ED)) LX Dnve
Eg) %ﬂm’ * EB; T R~ (E) Question ot aftempted j
. D Eﬁﬁiﬂgﬁa ol
(E,‘;: ST 9d ' Which of tﬁgfﬂllﬂwing is the most pn‘ﬁhlar query language
<7 REd 5 used by majgr?rclatinnal database man ~ment systems?
112 FreferEd i g | ¥4 feaTAE S8 T gonferEt A) Database, Moderate Language )
gy ST ﬂﬁﬁaﬁmﬁ@ﬁﬂ Fall :IJTHT%‘? | (B)_.. Query, -anguag® QL) -
(A) 2o TS aas (STTHTET) Y ) structured Query Language (S E)
(B) A das QL) ' (D)> Object Query Language (OQL)’ "~
(©) S EEELE U ov” (E) Question ot attempted o
= : . Py
{g) maﬁﬁﬁ‘aﬁ (OQL) ‘**) . __ | 113 Ethernel card:is also known as:- \*j
(E) ﬂﬂﬂilﬁ'w (A) New Interface Card
113 Wmﬂﬁ@qﬂﬂﬁ:ﬁmm %__ g } NﬂtWE}I:]f lﬂtﬂrfaﬂﬁ Ca['d
(A) LI (B) e R O el Netwdrk [nterchange Card 5
C) e s HS Sa | (D) Network Intermission Card
& (D) e BRI (E) Question O
(E) mﬂﬂf(d o5 5"}- uestil_:a:}nnt attempted 5 Lo
, 114 What is Datatransfer rate?
114 STTER (et rores R : ptastransicr rate? (Choose-the m .
() ﬁ"?-’?gﬁt agrﬁgf N aﬁ"{j Pk e, pelow) = ost appropriate
ransmitted ) 3 GET .’ _F'E"hl?l ferem (bits (A) The number of bits transmitted -between regi
(B) e el A1 @ o source in 5 minutes e gister and
v e (3 T SiTeE Se e (B) The number of channels available”
( ) AET =hl GHA—T - “/ ) C
D Tae (E:[ET{ m'{ﬁlﬁ{?ﬁﬁ ( ) The I'Illn‘lbet ﬂfrﬂgister travels i
(D) T uEE AN : R The numb ; e
(source) < HRIGE: ; er of bits tran
varfE feg 6 (iJf:Stmalmn) &= destination in one secundsmmed between g
E » | BE O
2 (') SERISRE o (E) Question not attempted o urce ang
et TeRTael| | - 115 What is the full : ~
A) mﬁﬁammmw%? o (A) Grﬂphib'u'lal [ff K c“mpiﬁu
B ¢ B) Wifthehet : phan) ser Intermedi Herterm;
(C) it a5e ¢ (B) jate  ~ in
Iye SehE S AT AT (B) Graphical User Interc ology9
(E) 3uie yg ' : (D) nﬁﬁﬁ-ﬁ{m (C) Graphical Used Interfzgﬂecti““ﬁ a gy’
116 et ¥ & 2 ar s o o MQEJ Graphical User lntert‘ac: %
ErE (A M3 T S w37 | (E) Questign,not attempted Yy
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Erest - owing | O
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insert a
. shortcut keys 10 -
@\\’hi ch of the following mﬂmk s
M.

. T o
et M.S ofﬁceﬁﬂﬁmﬁﬁ S OfﬁEB?K z (B) Ctrl+ M.
ﬁﬁﬂﬁi&ﬁrgﬁm : ERE (A) ctr:jrrJ (D) Ctrl +D O#_.
ﬁquﬁﬂ i) Ehy (C) Ctr . Moy
117 7 e @ Cri*M O (E) Question nﬂt,ﬂ_ﬁﬂmptEd oA
ﬂﬁ”mﬂ K Ctrl+D = ( e athematical
g o ®) '] : he following is mot @ M o gy
g (M < P 118 Which of the folloT oy oy
| g i e B spreadsheet/MS EXC TODAY() >
g A ST R (A) SUMIFQ &5y COUNTOQ.~
g RS A T ROUND() -~ (D)
i DAY()] © ;
! B) QQ[TO : attem ted )
it [SUMIFO) : #1352 [COUNTO] (E). Question notattermp : d
(A oUND()] ) N P . following key is used for g,
e R \ ich among the 10 i
(Cl)i aﬁaﬂﬁﬁﬂ' 52 hic { spelling in MS Office? b 2
O st e R e gl @) 2D
c s 50 1 -
119 ﬁ%ﬂmwmﬂ? - " - = (D) F7 f.r_:
(B) Q tion not attempted o
(A) F1 D) F7 = (E) Question NO < B o
G e : o | 150 A rectangular goiind is marked by painting thre o,
RO e SR R sides. If the length of the unpainted side is 13M adtreqy,
120 T Wm%mﬁﬁ? ﬁa:;?ém% st e | of the lengths,of the painted sides is STmE-rEl]_En the area of
iy T 1 e e o feT el S (e ) th undig<) - " c
il B VTR TS A 57 e R, A A ARl 8- ; gf_;ldl ¢ S 3 \}/28 . ?“ /‘
A) Alm: - ®) 286m’ () 2 @ (D) 176 m? ™/
. 2 D) 176 m? EQ P m
p C) 280m e (D) (E) * Question not attempted
E) IFIERA

ﬂ'le 40 THC x 30 el IR T TH AFAHL2H 4 6.5 HIeT
o o Q1 e a5 forel wir i < <R iRy | swdr

®, A 20 it YT ATCH FAR FFIE HIE e AT G -
5""1 fera T 3 Tt forar St HehaT 7 0" \
);51( (A) 36%R B) 45 "o
V (C) 40 (D) 39%2 ; '
E) rgurawn A .
L T HEAT 60% Tt 60 T SirgH) T @Hesn Qi =t e - |
'71,1) Bl T8 e B
(B) 180 y
(D) 150 t:j'# e
e ot zg : -
53 I 3 T T el T 8, 9 3G 2T 050
% SR &) S T S 7 T et S S, ey WZS?;
Mi;‘"
B) 20% (7¥
M) 25% o
O
TSR ST 9T S 9 3 w41 o et
2 A s

R
(B) % 2600,7 1820
(D) T 2420,% 2000

121 The water level in-a rectangular tank with a.base of 40m x
30mis 6.5m higﬁ_;‘—_iﬂ_hnw much time can thE:[/z}nkbeempﬁed
by a pipe having square cross section of side.20cm, if the
water runs mmughjhe pipe at the rate of Skm 1 per hour?
(A) 36hours -, - (B) 45 hours”

(C) - 40 hours P39 hours 5~

(E) Question n@tl’éﬁempted’ (Y

']
.....

g, S

- =

122

number itself. The number is:-
(A) 160

(C) 120 e_BF 150
(E) Question nétattempted _ §00°
R S N 100555002 0of
: Zjﬁfuiquld s changed into solid form, its volume inees®
e me: When the same solid is changed irito ligyid 73
Percentage decrease in its volume is:- ~ " 7
O %D ) 20% W
Ll (\ 2
©) 15% e il o
A  sum of "F NV
6280 - i
9600 in S years at g o, TPl interest 1O
N rate of interest. If the™

=X

L
60 6L
b
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ye 1 6
(A) T11640

(B) ¥ 12680 O

(D) T 142405

o
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Y at the eng of 8 Gyears is equal to the anigunt recel’ £
:E;A] ;Er annum_ -« :,r:e Ats When rate of comporind i 5
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126 U= farfae # 240 farerehi 3TUET 400 ferenfelai & forg WS &l | 126 In a camp, there is a meal for 240 tﬂi‘:h;::n F ﬂumhcr_ ﬂf |
Srereey 3 A 300 STAI Y WIS F e &, ar 9 e A | IF 300 students have taken the meab 2% .0 fo0d 15 |
OhA0) £ =Y . Ohids 16 can be catered to with the rema |
’% e fRregant @1 HISH fyem? e : teachers who ca e |
E5N (A) 40 O B) 60 O EN (A) 40 | 60 O
(©) 80 (D) 50 &~ (C) 80 [ (D) 50
(E) ar:],ﬁﬂ’vf E- I o (E) Question not attempted o )
bl : ; . A an’ -
127 W%%ﬂﬁﬁ «arrieren arar” %é@mﬁfﬂ?mﬂl' : ame the author of the literary wurk"_iﬁ:rﬂﬂlal‘- Vata
(A) ﬁ:ﬁlﬂﬁ'ﬁw (B) R <% YR V@‘G Vijaydan Detha Y
ag‘;]ﬁaﬂ'lﬂ qusiad (D) ez T (B) Shiv Chandra Bhartiya S
S aqgaﬂﬁﬁ fﬂ: (C) Lakshmi Kumari Chundawat H%}
5 U : N 2 (D) Yadvendra Sharma '
128 TS A Wﬁ;mﬁaﬁ%ﬁiﬁﬁﬁﬁﬁfﬂﬁqﬂw (E) Question not attempted
. n
ATl &7 . | o k“ 128 In Rajasthan-weaﬁng a gold nail heﬁﬂﬂﬂ the teeth as @
(A 1 & (B) ~ ornament is known as: -
(O) St (D) EHAT O | M Choonp:’ (B) Baalr'lf
(E) mﬂﬂﬂﬁ uq M_‘_‘j'f (C) Borla'!, (D) Daan;ila
129 Frafafaa ® § Fr araET W TS gfeemd ol &7 | (E) Questionnot attempted o £
z > - aﬁ_a:n., qg:ﬁﬂ_%? e On which Effme f‘ulluwing special ucEPsiun th':E REJE-FL ani
SreiE wid Sl -l f't | b
T o4 especially wear the ‘Lahariyd BHaant K1 1’4
(A) S=ASHSA (B) Tt (172 women especially :
o (D) & FSAT (A) ‘Birth ofa child B) Holi.,”
(©) st % v (C) Teej q = BT ﬂkﬁ_})g}la Tritiya
) Hﬂ N (E) Quﬂstinﬁ not-attempted
130 USEAM % for e it AT - T T 130 Which famous folk deity in Rajasthan is considered to be an
2 e uﬂ%ﬂﬁﬁ'—f incarnation’of Lakshmanji? Ly
£ Sk (B) e NMehaji Manglia (B) Ramdevj
() He (A) Mchaji Mang nd
© ' (D) IO (). Harbhuji. AP Pabuji-
(E) uRayd. ) (E) Question not attempted &
131 TS |ﬂw’%wﬁ%@rmw§’: 131+ Who is knuwnas the ‘Radha of Rajaﬁﬁban_‘?
(A) TEER (B) TAERJ (A) Gavribai, (B) Rafabai
© T () *fend’ > |2 (© Gangabai APy Mirabai
(B) S T oV~ . (E) Question not attempted A
132 HigsaU ﬁﬁqﬁtmﬁnﬁrﬁﬂﬁ?mﬁﬁ%ﬁw Bhanddevara Shiva Temple was built b'}f:- |
A e Sl (B) ST EE -~ _“(A) Malaya Verma ABJ Jagdish Singh
(c) "HiEE (D) =a faE (C) Man Singh o@’ Jaga}rSmgh
(E) FTRasd 7 (E)’ Question'not attempted ;E‘
133 = ?ﬂ'gﬂ?l'@ll-'-ﬁ'ﬂq?ﬁ B 11 (o M IR UG TR ﬁﬂﬁ?‘fmﬁﬂf 133 Which lakewas built by stopping a braﬂl];gh of the local nver,
off? ‘Ruparel’?" = © “~l
: 5 = iLake  (B)—Gadisarkake
A) TEHA= B) TEEETT (A) Bal Saman B
EC; ﬁﬁmiﬁ'gnﬁ ED:; faferag =i (C) Lakce Pichola (Pr Siliserh Lake
(E) Fqat@yd 'r:t:-'ﬁ, (E) Questionnot attempted Y
o i § “ ? ' e
134 SAFARE T TSI T S EE i ot s grredrdrr | 134 Name the puﬂtt:s;: dedicated to Krishna“and also known as
A ot ) \ ‘Meera of Wagad’. _
i) rhtm:m R (B) 9= mz}‘) (A) Gaura Dhai (B) Panna Dhai
(C) "= ., (D) T =g~ (C) Meera Bai Malap-am
(E) @@ 9d. - I (E) Question not attempted S
= ¥ €135¢ i et immortal Rajasthani
135 STACTSRATH St it et eivdt & 3 ejaeh Fi &7 135 YWho is the, W,f“ﬁfff the immortal Rajasthant popular song
' = ¢dharti dhoran ri:
(A) foemem (B) AT e AT dhoj ar
o) e i H—TEITF’T I Eﬁ Vijaydan Detha (B)—Kanhsiva-kat-Sathia
o EE) Wﬁﬂ > (D) :}Qﬂlqﬁw (©) Birbal Singh (D) Kaviraj Shyamal Das
| Hﬂ / (Y (E) Questionnot attempted Yy
E ﬁ'&ﬁ?ﬁ 3 d oy ST A 136 Who among the following is known 1S the
ST ST 87 | as the father of
m_ . Indian Renaissance? N modery
A : N\
. (A) RIEE Swami Dﬂyananil (B) William Beng:
E’ (C) wereHn ey (C) Mahatma Gandhi Raja R ntick
Kig (E) Wﬂﬂﬂﬂ' me%y (E) Question not attempted am Mﬂhﬂn Rny
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ﬁ‘aﬂm‘aﬁ Haﬂuﬁ-’ﬁfﬂﬁﬁ—fﬂm‘? 137 Who succeeded Aurangzeb in 17077
(37 ]?U?agﬁt inl e (B) TGS TS m (A) BahadurShahl  \ g2 1 Muhammadm
A- 2 h--"h .
a8 (C: il (D) TRAT % (C) Bahadur Shah II (D) Nasiri Khan
> ;E) " o s (E) Question not attempted "
T ' o £ e
' O
138 Rangpur, Lothal, and-
a8 1T, S, mwaﬁtﬂ\wﬁﬂ@m@mmm &P 4l Prabhas Patan and Dby,
+0r B . (Y archaeological SltES are found in which state?v
* oV’ A) P =
(A) ST (B) WEA VeI, \ (A) urfjﬂb * B) Mﬂdhya ¢ Tlesy
\ ujarat | D) Uttar Prad
(C) =@ (D) S| "_ xRy
5 - (E) Question not attcmpted
o . 139 What name has been given to the tools of Mﬁgulith'
139 WEAITEIOY ﬁ?ﬁﬁﬂft%\ 0 i 8
3 by % wwmwi": (A) Lunates ‘- | (B) Trapezes?‘_
( ) .I".'.:_'.“_L_ (B] @ET E}’/) \ﬁ Mﬂfﬂllthﬂ _' .' (D) Handaxeé}
© mﬁi%m s (D) %3“\'@('3 5 (E) Question nut atte.mpted r{:
(E) W@ﬂiﬁ[w ﬂj—i""‘:‘:f - : s
E;;:/" @ Who coinéd the term ‘Neolithic’? (TY
140 WWWW O (A), Huhs™ = (B) Kushanis”
(A) T (B) Fm (C) " John Neocard tipg‘ John Lubbgc_k
© Swfas, - ©) ST (E) Question not attempted
,.-'= T : 163 B
(E) Wﬂﬂw | 0O 141 ‘India that is Bhiirat shall be a Union of Si%es" The word
rf"' “Union of States was adopted fi
i Sopendiod s "WI'I % S s W S which country? /= b it tht:Jinsnmnun -
ﬁm%sraamﬁm 7 O
i -4 RIC IR 1Y %’ (A) Canada j_ _-.ﬁm (B) SWitZEI]E[}a’
(A) ST _H: (B) mﬂ Lﬁ’u S. WP (D) France (VY
©) 1= = (D) ®I& . (E) Question not attempted oV
sty )
Lt m Panchayati Raj is mcluded in the:-
142 9= W& T ﬁﬁmﬁﬂﬁnﬁm%‘v 5 (A) Union List (B) Concurrent List
@ W @) wediED (©) Stelist 5 \ 4By Residuary power
©) T j D) 5 Q‘{F:;:'ﬁ# (E) Question nut attempted '
(E) mﬂf{aw . % 143 The calligraphy | uf‘ the Hindi version of the gggmal [ndian
=+ %ﬁ Fj}’ Constitution was dum: by whom? J
T
Tl T 3 et Fen i R & frarae (o) | g Vasant Krishia Vaidya i
EW%Mﬁrﬁiﬁ? O (B) Rammannhar Sinha i\g
(A) mwaa (B) ToHAYet far (C) Usha Nath Sen
(©) qum:aq' (D) Ww e (D) Alladi Krishnaswamy Ayyar g
(E) :ﬂ@‘fmgg C:L (E) Question nut ai:tempted @

144 After walking fur S kms, I turned rightyand covered ®

distance of 2 km, then turned left and cuveﬂ a distanc® B
6 km. In the end, I'was moving towards thé North. In whie
direction did I start the journey? oV

__/(4*)/1:7 oth O (B) East N

bA0 (C) West (D) South
%% (E) Question not attempted

144 5%:?136{3[%5313 ﬁmﬁg‘[aﬁ'{zwﬁzﬁmﬁ o—
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ﬁﬂ%@ﬁ . 2 47) the questions based on it. (Q. No. 145 to 147)
o ST o6 I (sra:ram'laa‘msﬁl_ _ . -
i 31131_11‘1'{'?[! X % 1 TH m@ﬁ:ﬁ{ﬂ:{ﬁﬁw % A set of words and numbers is “passed through an
% l 3 R Sreafafaa I g% 80 kN arrangement machinc and the following rcarangement is
Dha S RIEL > Witk . obtained:
‘ 20 40 Sanskrit 3 - i)
mmput: History 50 Maths 10 Chemistry;20 20 Input: History 30 Maths 10 Chemistry 20|40 Sanskrit
Economics 20 Economics 50 o

| P :
30 Maths 20 40 San%[it Economics 50

Step 1: 10 History 30 Maths 20 40 Sanskrit Economics 50

7T 13 Histhry
' o hr{., P ; Chﬂmlﬁt['}' Y
2. 10 20-History 30 Maths 40 Sarskrit 50 Chemistry Step 2: 10 20 History 30 Maths 40 Siaﬁskrit 50 Chemistry
Economics . oVv° . Economics oV
Sror 3: 10720 30 Maths 40 Sanskrit 50 Chcmustry Step 3: 10 20 30 Maths 40 Sanskrit 50 Chemistry Economics
Economics History L History |
=ur 4: 10 20 30 40 Sanskrit 50 Chemistry Economics Step 4: 10 20 30 40 Sanskrit 50 Chemistry Economics
History Maths -~ History Maths - Y,
=T 5 : 10 20 30 40 50 Chemistry Economics History Step 5: 10 20 30 40 50 Chemistry Economics History Maths
Maiths Sanskrites . A O Sanskrit . O =
HOT § STET ST ST =0T B : l_:,-‘"" ; Step 5 is the last step of the ?II'EFIgE;I’lCﬂf
T1e=T 3T IRl & Uh H,_L'g Y o A SqireR ST o A set of u:qrds_and numbers is given ﬁﬁjn . As perﬁhe r:lzs
ST st 3 TR, S Wqﬁﬁ,ﬂ o iR 1?;:r:.ulbr::n:.w:u:i m the above steps, answer f}?? uestions base
Input: 55 11 Geeta Babloo Radha 33 Offiesh 2244 Pinky | yaput: 55 [1"Geeta Babloo Radha 33 Orfiesh 22 44 Pinky
145 Treferfiaa o 4 S |12 2 oV - ich of the following is the Step 277
(A) 112233 55Radha44 Pinky Eabluc{hﬁ‘geetu Omesh ; (A) =555 Radha . .
(B) 112255 Radha3344 Babloo Pinky Geeta Omesh 11 22 55 Radha 33 44 Babloo Pinky Geeta Omesh
(C) 112255 Radha 33 Omesh 44 Pinky Babloo Geeta w 11 22 55 Radha 33 Omesh 44 Pinky Babloo Geeta
(D) Mﬁmmwtﬂﬂﬂﬁﬁh

(D) 112233 Radha 35 44 Pinky Babloo Geeta Omesh
(E) SHARaTd: n bake oo J

146 =T 4 3 <33° 3R “ Babloo ‘%ﬁaﬁmﬁ%;ﬁ?
(A W ST B ¥ =~
GRS @) s’ O
(E) Igaiass e
147 waﬁmﬁti‘r‘m&rwmw@f
(A) i (B) ur=aiov”
() &3t O (D) =T N
(E) IIgaidud
148 A,B,C,D, E,Faﬂtﬁﬁ‘ﬂﬂﬁiﬁlﬁ'ﬁtﬁzjﬁaﬂt#ﬁﬁ
A3 B, C ¥ a1 ST E T WIS 2 CoD HEid S A

T T AST 21 F. G 3 2iE ST deR SO 3312l G, B H

T T USTET AT 21 A, E % a(iS SR @ € 95 3431 &, T F D. F is third)to the right of G. G ig~not an i :
FHars .-ﬂ"ﬂgsﬁ: EIFT W ST R? E}""/‘ nei ghh?u;tgf FF?A is third to the lefE BFE,,-II'IEH wh:?sn;:::,ﬂtc
(A) E \ (B) G > 5 to the right Of & » e nd
o G D) & S 0 D 0 = e
(E) Sguid W 2; (E) Question not attempted 0l
149 FE@HREM, N, O, P, Q, R 3IT S Ia T AT T Ok HTelt . N
5 y N, M, 1, WYy -4 149 Seven persons M, N, ﬂ& P: ,R el o,
@ A3 (I A fr s s A E)I R TS % ofre # S l line (ngt necessarily in theqsamgn(?rg 9 Sitting ip 4 stra;
;};ﬁﬁﬁ%ﬁ%g F A F W F“? T %312_;,%0 %;%Tﬁqg two persons are sitting between R auff?s fasmng North c;ght
&I T | S 3N & =" AQ | N to the left of N. P is seated thj S. S 1S sittine. . uly
Eﬁﬁﬁﬁ@tmﬁmﬁ Eﬁﬁn%fﬁﬂﬁﬂﬂﬁﬂ‘fﬁﬁﬁ?m'aﬂ? seated between S and N. N ig ;d to the'lef of O S Secopg
4 ] = of the row; Then who amgqp a:d atthe extre m Ql_illy:q in
(A) M ke (B) S o exactly in the middle of the 1in§.;. th?--'-fnllnwin E.nght end
© o . C (A) M SO is
(E) 1gufta us O i 4 o &K (B) s 0~ SCateq
e () Questionnot attempteg ) P
150 THFHEH H=r =1 gi=ar ®=(E ﬁ]m%ﬁaaﬂﬁf Nsdiis ranks fi-ﬂh _ e .__:;w
21 3 qUR 2 e oo €T O 2 Qe AT S HE 6 S Necaaraikgs it ina clugs, 5 ny
AL, £ "l alter Neeng . S@igh
, A ey 3 fopa feraefi 87 - amg Seema, then how and jg ; t
WE L e L
% 3 (D) 22 oy ) e
Bt (B) iafausy wuP ZESK Questi @
; 22 ﬁ' on not ape
CEF1] =3 ol _;j_,__’_s__ 55 (:m‘.d-ﬂ\ Rﬂﬂd“ ?ﬁpﬂﬁ' - Mpteq E
U
2 (42255 e300 Lablon Groda

$-3 142233545
¢eM 4§ 2 35 uy S

Rodba i
Rodire-

334 G
(E) Question ot attempted ~)

146 How manﬁ_iementsfte:ms are ther%,bemeen ’33° and

‘Babloo™in the step 47 B
0 Threel ) - (B Two~

N | (O, One &3 . (D) Four~
(E) Quf:st'idti';nut attempted e

What is the-position of ‘Radha’ from the left end in the

step3? oo gl
(A) Ninthto C«8 Fifth
~(C) Sixth (D) Fourth

(E) Question not attempted

I &z _——_ -
A, B, C, D, E, F and G are sitting around a circle, faci
centre. B is second to the right of C. C{5 third to ;:hc?;i:h?
0
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